1. Write in columns and find the sum.

a.

C.

e.

271 525ml and 36l 287ml

Addition and Subtraction of Capacity

4 )
- /
181 150ml and 161 980ml
4 )
- /
251 850ml and 191 390ml
4 )
\ /

b.

d.

f.

161 285ml and 201 498 ml

4 )
- /
171 25ml and 201 498ml
4 )
- /
751 095ml and 131 938ml
4 )
\ /




2. Write in columns and find the difference.

a. 15] 287ml from 201 598ml b. 20l1496ml from 25| 298ml
~ ™ 4 )
\_ . \ J
c. 646mlfrom 9l d. 46l 295ml from 901 100ml
4 N\ 4 N\
\ / \ J
e. 254ml from 7I f. 521 159ml from 60l 110ml
4 N\ 4 N\




